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 𝑓(𝑥) =
10

𝑥−7
𝑔(𝑥) = √𝑥 + 4

 𝑓 𝑔

 𝑦 = 𝑔(𝑥) 𝑦 = √𝑥

𝑥 𝑦 𝑔

 𝑦 = 𝑔(𝑥) 𝑦 = 𝑔−1(𝑥)

𝑥 𝑦 𝑔−1(𝑥)

 𝑔−1(𝑥)

 (𝑓 ∘ 𝑔)(𝑥)

 𝑓(𝑥) = 3𝑥2 − 12𝑥 − 2

 𝑓(𝑥)

 𝑦 = 𝑓(𝑥) 𝑦

 𝑓(𝑥)

 𝑓(𝑥) = 7 − 5𝑥 𝑓−1(𝑓(𝑥)) = 𝑥

𝑔(𝑥) = 5𝑥2 − 7𝑥 + 11 ℎ ≠ 0

 

 𝑦 = −(𝑥 + 2)3

 𝑦 = |𝑥 − 7| − 10
 𝑦 = log6(𝑥 − 3)
 𝑦 = 5 sin 2𝑥     on the interval  [0,2𝜋]

 𝑦 =
−4

𝑥+2
− 1

 𝑥 

 4
𝑥+8

= 32
𝑥−1

 log2(𝑥 + 5) + log2(𝑥 − 1) = 4

𝑔(𝑎 + ℎ) − 𝑔(𝑎)

ℎ
 



 

 𝑥.

 sin 𝐴 =
12

13

cos 𝐵 = −
4

5

 cos(𝐴 − 𝐵)
 sin(2𝐵)
 sec2(𝐴)

 

 sin 27° cos 33° + cos 27° sin 33°

 tan (
25𝜋

6
)

 csc (cos−1 (
√3

2
))

 log3 27 + log3 5 − log3 15

 

 7.5%

 

 

1 − cos 𝑥

sin 𝑥
+

sin 𝑥

1 − cos 𝑥
= 2 csc 𝑥 

𝐴 

𝐵 

𝐶 
14 

19 

105° 

𝑥 


